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Run 5892 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 47440
Mean: 15,6068 «/- 0U0D0D7TS
Std Dhew: 1.7313% +~ 00056

=== Lager OFF ---
Entrie=: 46945
Mean: 29055 «- 0.0016
Sid Dhey: 03528 - 000072

Run 5892 quartatwize, Diffs)

=== Laser O -—
Entries: 47440
Mean: 07659 +- 0.0033
Sid Dhey: 07119 - 00023

=== Laser OFF ---
Entries: 46945
Mean: 0.0009 +- 0.0018
Sid Dey: 03EE2 +~ 00073

Run 5892 quartetwise, Asyms(

=== Laser ON -—
Eniries: 47440
Mean: 31.2939 «/- 01336
Sid Dev: 28,0054 +/- (L0944

=== Laser OFF ---
Entries: 46945
Mean: 00374 +- 0.0732
Sid Deyv: 158580 +/- LOG1E
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Run 5892 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-

Entrie=: 47440
Mean: 14,0558 /- 00075
Sid Dhev: 16316 &~ 00053

=== Lager OFF ---
Entries: 46945
Mean: 29046 «- 0.0016
Sbd Dewv: 023514 - 00011
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Run 5832 quartetwize, Sums0

=== Laser O -—-

Entries: 47440
Mean: 30,4456 /- 000151
Sid Dev: 3 2802 - 00107

== Laser OFF ---
Eniries: 469485
Mean: 59701 «- 0.0027
Sid Dev: 05876 - 00079
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Run 5892 quartetwise, PosHelAccd

— Lasar O —

trlne: 47340

Magn: SIET10EISE - 2GR B0
=5 Dwre: STEIEE 2384 &1 1706381500

— Lassar OFF —
frlnen: 2038
Mann: JIIES 484 &0 2708 4008
S Dre: FETRE DT - 1532 S0

1 1 ] 1 =10

Run 5832 quartetwise, Diffsd

— Lasar O —
tnlne: 47840
Maan: 2400161 37353 «- dF14.03200
S (Dire: VIS 24TH «0- BICL 1241

— L OFF —
trlnen: 43558

Naan: S34TH +- 1) 1788

25 Dwre: SREDSS S350 +/- T B HI0

[
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Run 58392 quartetwize, Asymsd

=== Laser ON -—
Eniries: 47440
Mean: 31.0062 - 01181
Sid Deyv: 257160 +/- (LDEIS

=== Laser OFF ---
Entries: 46945
Mean: -0.0007 < Q034G
Sid Dey: T.650271 4~ 00245
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Run 5892 quartetwise, NegHalAccd

— Ly 0% —

trlnen: 47340

Magn: SIS0 3841 & 10 B B2
25 Dwre: AFEIETT ABDA &1 DEOOIE TEAT

— Lussar OFF —
ST HE L
Masn: JEI7 A8 «- 2ELD
S (Drire: 7SO0 SN 4 THE BB

Run 5832 quartetwizse, Sumsd
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— Lumar OFF —
trminen: 43548

Magn: TIEISEIALS] +- 1351060
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Run 5892 quartetwize, Asyms LSbgl

=== Laser O -—
Entrie=: 47440
Mean: 000 T «- .02
St Dhey: 0LATAZ 4~ D.00MS

=== Lager OFF ---
Entrie=: 46945
Mean: 000 T «- .02
Sid Dhey: 04710 =~ D005

et L e e

Run 5892 quartetwize, Asyms DSbg1

=== Laser O -—
Entries: 47440
Mean: 00003 «- 0.0004
Sid Dhey: 0L0E3E - D00

=== Laser OFF ---
Entries: 46945
Mean: -0.0004 & /- 00004
Sid Dhey: 0L0E36 - 00003

Run 5892 quartetwise, Asyms Horiz Fingar

=== Laser ON -—
Eniries: 47440
Mean: 00047 +- 0.0015
Sid Drey: 003200 +~ 00070

=== Laser OFF ---
Entries: 46945
Mean: 00005 +- 0.0018
Sid Dey: 03985 +~ 00073
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Run 5892 quartetwise, Asyms LIShg2

=== Laser O -—-
Entrie=: 47440
Mean: 00002 +/- 0.0015
Sid Dhev: 03208 &~ 00070

=== Lager OFF ---
Entries: 46945
Mean: -0.0001 «/- 00015
Sid Dhev: 03228 - 0.0071
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Run 58392 quartetwize, Asyms DShg2

=== Laser O -—-

Entries: 47440
Mean: -0.0000 & 00004
Sid Dev: 0L07TES & 00002

== Laser OFF ---
Eniries: 469485
Mean: -0.0001 «/- 00004
Sid Dev: 00758 - 00002

=y
Ln

Run 5882 quartetwize, Asyms Vert Finger

=== Laser O -—-
Entries: 47440
Mean: 0U005T «- 0.0011
Sid Dev: 025171 & 00000

== Laser OFF ---
Entries: 46945
Mean: 00006 +- 0.0013
Sid Dev: 02768 &~ 00009
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Run 5892 quartetwize, posHEI vs time
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Run 5892 guaretwise, asymisub vs fime
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Run 5892 guartetwize, negHO vs time
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Run 5892 guartetwize, summb vs time
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Run 5892 quartetwise, posH4 vs time
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Run 5892 quartetwize, posH4 vs time
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Run 5892 quartetwize, USbg1 ve time Run 5892 guartetwize, USbg2 ve time
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Run 5892 quaretwise, variFing vs timea Run 5892 quanetwize, horizFing vs tima
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